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Chapter 6: TRIGONOMETRIC IDENTITIES
6.1 — Reciprocal, Quotient, and Pythagorean ldentities
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Recall the following identities:
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Non-permissible values are any values that result in a denominator equal to 0.~
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Determine the non-permissible values of the following identities, over the interval
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in x is true for the following values of x.




MPC40S Date:

c) State the non-permissible values of the above identity over the interval 0 < x < 2n
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Pythagorean ldentities

From the unit circle, we know that cos 8 = x and sin8 = y.
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We also know that the equation of the unit circle is [x? + y% = 1
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Dividing Equation 1) by cos?0 results in:
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Dividing Equation 1) by sin?0 results in:
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We can manipulate these equations to create other equations.
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sin%6 + cos?0 =1 tan?0 + 1 = sec?6 1 + cot?8 = csc?6

Coste = |lsiate danter = sec?e-\ cotle = oo -|
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Note: These identities are only true when the trigonometric functions are
squared. (i.e. sinf + cos 6 # 1)
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Example #3
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Simplify the following expressions completely.
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